8- 9FLFDE A=REB-A—TUHBEH B=#HX -JTOv/HiBEK
NE iz K4 BEIRAUL | REERAUL | MRARAUF | R—FR
1 —=E EE 235.26 201.00 34.26
2 MR KdE 211.10 164.00 47.10
3 ALt EaF&F 144.61 130.06 14.55
4 [BEH HEE 142.30 104.00 38.30
5 |FaiE B 128.81 83.06 45.75
6 |fRARBELF 118.26 89.25 29.01
7 INK B FH 109.95 73.30 36.65
8 |H/T==E 83.00 36.00 47.00
s |EHEAIL 81.50 57.40 2410
10 |[fE0 FF4K 51.75 40.20 1155
n | KR ZEA& 42.66 35.00 7.66
12 (gL #5F0 36.25 23.30 12.95
13 |[#AAR Zkib 30.25 24.00 6.25
14 |&Lf $H3E 29.26 17.26 12.00
15 |IhNg F= 29.20 23.00 6.20
16 |f5K IRBR 25.50 16.80 8.70
17 |INIRAF TR H 23.60 14.30 9.30
18 [INRAY R 23.00 12.00 11.00
19 |B&R TH 19.91 14.20 5.71
20 |fHONEE Z=AR 19.45 8.80 10.65
21 |hnpE IR 17.60 12.00 5.60
22 |pEE BE 17.15 17.15
23 |ME #kF 16.91 9.30 761
24 BRI EF 15.40 14.30 1.10
25 (JBH FEEMR 14.10 14.10
26 ([AlHYLS 11.68 9.30 2.38
27 IR & 10.90 6.40 4.50
28 (¥XH =FE 9.18 8.20 0.98
29 |EFEHE 7z 8.79 6.10 2.69
30 |#H B 5.40 5.40
31 |JH ThEFE 5.08 5.08
32 |IFi EIE 4.42 442
3B |BH BF 2.81 2.81
“ | BE 2.80 2.80
35 |thHE #7Y 2.71 2.71
6 [iHK EE 2.32 2.32
37 |HiE #FE 2.25 2.25
38 |MEAR 145 | 204 2.04
39 |ZEREA DT 1.80 1.80
40 |Hpk = 1.60 1.60
s |IBBRXKE 1.55 1.55
2 | BEXFLE 152 152
43 |IMNEEFE 1.47 1.47
44 |ihlE T 1.42 1.42
45 |REVLGD 1.36 1.36
46 |5k B 1.35 1.35
47 |HHA U 1.30 1.30
48 |FiA FIE 0.92 0.92
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8- 9FLFDE A=REB-A—TUHBEH B=#HX -JTOv/HiBEK
NE iz K4 BEIRAUL | REERAUL | MRARAUF | R—FR
49 |EE BKF 0.91 0.91
50 |sKEF Bk 0.88 0.88
51 |3kEH =34 0.86 0.86
52 |[RE ¥k 0.82 0.82
52 |Bxk BE 0.82 0.82
54 |1&iEE HL 0.79 0.79
55 [E3FH FEMR 0.77 0.77
56 |FAA tHEG 0.74 0.74
57 |=iE HEE 0.70 0.70
58 |&8BR HBEF 0.68 0.68
50 |HhiZE fb3E 0.64 0.64
60 |{RiE =IFE 0.60 0.60
61 |FEDDOE 0.58 0.58
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